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1. Use your ruler to draw a rectangle that measures 4% by 2 % inches, and find its area.
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2. Heather has a rectangular yard. She measures it and finds out it is 24-:-feet long by 12~;- feet wide.

a. She wants to know how many square feet of sod she will need to completely cover the yard.

Draw the yard, and label the measurements. \ 3
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b. How much sod will Heather need to cover the yard? -\2- —-\—8-
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She\l need 313 14‘—& o€ sod Yo coven hen =

c. [If each square foot of sod costs 65 cents, how much will she have to payQ cover her yard?
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6. Read the statements. Circle True or False. Explain your choice for each using words and/or pictures.

a. All parallelograms are quadrilaterals. @ False

A\ posollelograms have Y steaiqht ‘
Slc\es so o\ po:a-\\u\t)gm ofe a. '\"jpe o€ buacln\a'\'uo.l.

b. All squares are rhombuses. False

A\ r\wu\:uses have Y equa- wal s1des | and so do all .c&o .
Some vhouwbuses do wotVhave Y “\3\\* ams\es So wot
a\\ vhombuses ose Squares

c. Squares are rhombuses, but not rectangles. True
A\ squares ofe bothh rhombuses and fo.da.v\s\e
ond thombuses both have Y ceual Sides: RS
ound TecYanales both have W Hight angles.
d. The opposite angles in a parallelogram have the same measure. False
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8 The following figure is a parallelogram. True
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